AR A, B 9 1gF %4 C, D o &3 100g § ©7He o)
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C(mg) D(mg) =7HE)
A 21 15 500
B 16 19 600
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AtR A O] BAE xg ©2t oA Atm B 9 A= (300 — x) g
ojrt.

C 7} 60g ©o]ste] B2

0.21x 4+ 0.16(300 — x) < 60---

D 7} 50g ©]slo| 22

0.15x + 0.19(300 — x) < 50---©

@2 EHx<240

O=EHx=>175

. 175 < x < 240

TAR AF= G 7Mool 7HE RrejH A E Ho| fFdsfiof star
B = AA F£Ysliof gtrh. webA Aok AHR B 9 FA=
300 — 240 = 60 (g) °]c}.
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88+ 79+ 97+ x
Sfﬁgl
88x4 <88+ 79+ 97+ x<91x4

88

352 < 264 + x
=

264 4+ x < 364

—x <264 — 352
=

264 + x < 364

x> 88
=

x <100

S 88 < x <100
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BRI A B F26EL 5%, S 4.5
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THlelE A7 2 Al fle] kAol 22t 924, 834, 894
A @75=2] Btol 85 7 ol 914 o7t
2 A o]ds Wotof sh=A] Fsteizt,

< 924—832—89—1—x$91

85x4<92+4+834+89+x<91x4
{340s264+x
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264 + x < 364

—x < 264 — 340
264 + x < 364
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=
x <100

76 < x <100

=




xHTE 22 52 2|t o] Aot x Bt 2F2] ¢F-e XA 0] F4=9] gl
59 of, x=?
5

©) {5} @ {x2<x<3) @ {x2<x<3)

@ {x2<x<3) (@){xl2<x<3}

[x] & xHoh 2] ¢h= Fdi o] A4,
<x>5 x Bt 27 oF-2 o] J4-2f ot
x=n{n-<85)d d,

5
[x] =n, <x>=n°lBZ n+n=>5, n=g

- A gk,
n<x<n+1l(n235) <,

[x]=n, <x>=n+1°B2 n+n+1=5
Ln=2

L2<x<3




6.

x4+ 3 <|x-2/S =H?

1
® x<-3 @—3st—§ ® -3<x<-=
1
@ 2<x @xs—§
[x+3]-[x=2/<0 <«
1) x<-3¢
—x-3+x—-2=-5<0 .. x<-3 -3 _% an
i) -3<x<2¥¢ o
1 1
x+3+x—2:2x+1$0,x§—§ —33x$—5

iii) x>2< of
x+3-x+2=>5<0 (317teleh
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52

REA o1+ x+ 2 < 55 BEAFE % 20 A

o1 @24 @34 @i o5
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1) x<-—2dm
—(x-1)-(x+2) <5
—2x<6, x>-3.. -3<x<-2: AL gL
i) 2<x<1¥d
~(x-1)+x+2<5
3<s5IHAHE . 2<x<1:HF -2, -1,0
i) x>140)
x—14+x+2<5
2x<4,x<2..1<x<2:AF1
LA xS g4l (-2, -1, 0, 1)
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B ~
(1) x<-1
—(x4+1)—-(x-1)>4, x<-2
(i) -1<x<1




